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1.3 Evidence for wave nature of light (@ p.20) 2 Double slit interference
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1. Without total internal reflection

Reporticomments BI85 1 —SORRIA T | WREAT 2 MEFTT - HEWEAT
2023-1AQ16, 2016-1A Q17, BY3E5ES n > LUBRETERIEA B P55 v
Grentmedony e e wpoea o 2015-1B Q6, 2014-1AQ15,

multple layers of medium. Don't worry! They{ P tice Pa per-1 A Q20

Let's see.

Multiple parallel layers

1. Without total internal reflection ~ oscrererencer
e, The general form of Snell’s law states that ny sin 6; = nysin 0. By
Practice Paper-1A Q20 applying it to situations with multiple layers of medium, we get

g

nsin 0y = mysin 0, = ngsinfs = --- = const || HEFRoL>0 -
ARIE nisin6) =npsin @, = HH > 6= n1 > Fillm<ny°

Having the above equation, we can compare the refractive indexes n # : ”
i Bt n«ls ni=v| Al o>

The general form of Snell' law states that iy sin 0 = 1z i . By of allthe layers at once (0 | < n 1). Together with the definition of ] 1 ! 1> v

applying it to situations with multiple layers of medium, we get refractive index
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Which of the following graphs best represents how the kinetic

%D EE E S %EE E energy (KE) and potential energy (PE) of the block changes with
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the distance travelled s? Assume there is no air resistance.
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DSE Mock Paper 1B Short Questions (Extra Set)

Heat and Gases =5
1. Heat capacity: P
An electric kettle is switched on to heat up some water inside it. The mass and the initial Wi AmmeR
temperature of water in the kettle are 2 kg and 25 °C respectively. ’::;:]""’“3””’ i
Given: specific heat capacity of water = 4200 ] kg-1°C-1 o meen
= meAT= O1)(4200)20-0)
(a) Ittakes 5 minutes for the water to start boiling. Estimate the power of the kettle. Neglect =s400) "
the heat loss to the surroundings during heating. (3 marks) ) R =0 w
. . . . © BRI .
(b) Ifthe heat capacity of the kettle is about 500 J °C-1, explain how this would affect the SRR &
power calculated in (a). (2 marks)
| Answer: 2 m
(a) Energy supplied by the kettle £ = Pt © meima -
© 0 heseRTE
Energy gained by water E = mc AT (M) i ‘
1004wt = (1wl
pe=mcaT = p=MAT_ QEN010-25) _, 00 (Moth) o= V= 208000 < 1a0m !
¢ x60 o R
(b) More energy needs to be supplied to heat up the kettle. (1) RIEOORE
0015 u=3 +0015)(140) -
So, the actual power should be higher than the calculated value. ) e omet .
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Active Physics

DSE Paper 1B SQ Time-Awareness Training Instruction: Complete the following short questions in 60 minutes. - = spE (=} —3:
HEREEE - EEAR
-

1 minute for 1 mark
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9short questons (5Q) lus 4 long questions L. [©0000]
FERRED K CERSERN RENA SAOINER 2SR 1. Astudent carries out an experiment to find the specific latent heat of fusion of ice. He places 40 g of ice

e ) e . at0°C into a foam cup containing 100 g of water at 20 °C. Assume the foam cup has negligible heat
capacity and with good insulation.

185Q Given:  specific heat capacity of water = 4200 ] kg~ °C
60min specific latent heat of fusion of ice = 336 000 kg °C-1
(a) Calculate the amount of energy
(i) required for the ice to change into water at 0 °C. (2marks)
(ii) supplied by the water in the foam cup as it is cooled from 20 °C t0 0 °C. (2marks)
- EEEE'E:’”" t-22min
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